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1. C 2. D 3. A 4. C 

5. D 6. B 7. C 8. D 

9. D 10. B 11. D 12. B 

13. A 14. D 15. B 16. C 

17. B 18. A 19. B 20. B 

21. D 22. C 23. A 24. C 

25. B 26. C 27. A 28. D 

29. B 30. D 31. C 32. A 

33. A 34. D 35. C 36. A 

37. C 38. A 39. D 40. B 

41. D 42. C 43. C 44. Question not clear 

45. B 46. C 47. D 48. B 

49. C 50. A      
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HINTS & SOLUTIONS 
 

1. f a 0
  

f  aa2  a3  2a  a  4  0
 

 

a  
4

 3 
 

2. C1 ........C5   45
  

C1 ...............C5  M  M  5 140
  

M45
 

 
 

3. If a2
  b2

  c2
   ab  bc  ca

 

 a  b2  b  c2  c  a2   0

 a  b  c 

 
a

 b


 
c

  
2

b
b

  2
 
 

04. Arghya was born in 2002 ––– A 

 
Grandfather …………….2002 ––– 2A 

 

 2002  A 2002 2A  3854

 

A=50 
 

 (C) 51 years in 2003 
 

05.12%of x  20% of  x 1 61.2 
 

x x 1  50  51  
 

      or – 5051 
 

 d )  Both a & b  
 

06. 
 1  r 2 L 

    
 

V     
 

      
 

C 3  1     
 

       
 

V   2  r3    2 r 2 h 
 

  
 

H 3   3  2 
 

     
 

 

 

 
1

3  r 2 h1   
2
3  r 2 h2

 

h
1 

2
 

 
h2 1 

 

7. C  
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8. x 10% of x  + 10%  of  x 10% of  x 

99
 
x

 
100

 
 

 
x  

 99x   
 

% Change 
100 

 

100  1% 
 

  
 

 

x 
 

 

    
 

 

 d ) 1% decrease 

 

9. d) 
 
10. b) 
 

    
r 

 
 

 AP1  
 n t taking interest is being compounded yearly.  

  
 

    n  
 

11. 12 1 2  
 

 22 26  
 

 32
 615  

 

 42 15  31  
 

 52 3156 (d ) 
  

12. 11 21 23
 

 

 99  2  4  202 (b) 

 

13. (a) 

 

54
2  27 

 
 

14. (d) 
 

 

112 1 122 
 
15. (b) 
 

2 9 30 93 849 
 
 
 

 

7 21 63 
 
 
 
16. (c)  336  

 

0 6 24 120 210 336 

 +6X1 +6X3+6X10 +6X15 +6X21  
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17. (b) 53 
 
18. (a) 31  
 
 

  
+7 +7 

 +7 
 

    
 

7 10 15 23 

24 31 
 

 31 
 

 
+8 

  +8  
 

     
  

 

 

19. (b) 

 

2 7 24 77 723 
 

 X3+1 X3+3 X3+5 X3+7  

    
  

 

20. (c) 

 

134 245 356 
467

 
 
 

 

+111 +111 +111 +111 
 

 
 

 

21. D 
22. C 
23. A  
24. C 
25. B 
26. C 
27. A 
28. B 
29. B  
30. D 
31. C 
32. A 
33. A 
34. D  
35. C 
36. A 
37. C 
38. A 
39. D 
40. B 

41. 1157  25
 

  
25+3=28 (d) 

 
42 C 

 

43 1 65  
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43. 1 5424 

2  2936
  

? 47 56
 

 

(C) 4
 

 

44. Question not clear 
 
45. (B) 

(4X9X7)+(6X5X8)=492 
 

 (2X5X7)+(3X4X5)=130


46. 22 42 248 52 

82 5840
 

(C) 
 
47. 27+22=49+1=50 

(D) 
48. 52 42 1 40

 
 

 102 62 1 135 
(B) 

 
49. 

2 X 2 
=4 

 

 
 

  
 

 3  
 

 2 X 5 
=10  

  
 

  6 
 

 2X11 
=22  

  
 

  12 
 

 2X23 
=46  

  
 

  24 
 

 2X47  
 

  48 
 

 2X(47+48)
=190

 
 

 (C)  
  

 
50. A  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


